
Complete the sentences.

The ball is                 than the suitcase.

Circle the correct word
heavier                lighter



Complete the sentences.

The gloves are                 than the socks.

Circle the correct word
heavier                lighter



Mo is weighing books.

Tick the correct sentences.
4 books weigh the same as 4 blocks.
4 books weigh more than 4 blocks.
3 books weigh the same as 4 blocks.



Colour the glasses to make the statements correct.

The glass is 
almost full.

The glass is 
full.

The glass is 
empty.



Alex is weighing beanbags.

Beanbag A   Beanbag B   Beanbag C

Place the beanbags in order from lightest 
to heaviest.

Lightest                         Heaviest



What is the mass of the pyramid?

Cubes



It takes 5 bottles of water to fill 1 fish tank.

How many     will it take to fill 2         ?

How many     will it take to fill 3         ?

How many         can be filled with 20    ?


